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Note: All questions are compulsory. Marks are indicated against each questiag;__,ﬁff,’sqyare

brackets.

L. (2) Obtain the generating function for the sequence 2,0,2,0,2,0, - ,

(b) Using the generating function, solve the following recurrence relation: [CO1][3]
n =20,y +1;n 21, and a, =1

2. (a) Using Euclidean algorithm find the gcd(7592,5913). Moreover ans{‘»'zer!Wfiether 69x + 123y =4

has an integer solution or not? [CO4]13]
(b) Draw the Hasse Diagram of Dy, under the partial_.qi‘&ér elation of divisibility. 2]
3. Using truth table, examine the validity of the followirg Arguinent: [CO3][3]

1T try kiard and § have talent, theh | w_ijiﬂ:?bé'come an engineer,
It becorae an engineer, then I will be happy.

then 1 did not try hard or I do not have talent.

4. Using mathematical induction show that(ab)n = a"b", vn € N. [CO1][3]
5. (a) Consider the predi‘gatg:’;ﬁfgg):r X 2 2; over the domain of real numbers. Determine the truth value of
“P(—4) - P(2)”. Gfi}eii__sasgn in'Support of your answer. [CO2j[1.5]
{b) Write the ne,gafiégij;l ofe‘é’}‘v’yﬂz (x* +y* -2z >0). [CO2](1.5]
6. Verify whether(p/\~q) Vipvg)isa tautology or not? [CO2][2]

7. Con§‘i’tll§__-rﬂfh§}_posét (D30,]). Fora, b e Dyg defineavh = lem {a,h}andanb = gedfa, b}, Now
answer the following: [CO4][1+3]

() Drawthe Hasse diagram of the poset (D30, ).

(ii) Obtain complement of each element n lattice (D3, A, V). Give reasons whether this lattice is
bounded, and complemented or not?

Page 1 ofi



